

$$\lim_{x \rightarrow 3} x \frac{g(x) - g(3)}{x - 3}$$

$$= \lim_{x \rightarrow 3} x \cdot g'(3) = 3 \times \frac{5x^3}{3} = 15$$

نیچرل لیمٹ سے فطری طور پر تان برقرار رہتی ہے

$$g(x) = \int_1^x \frac{\sin t}{t} dt$$

$$g(x) - g(3) = \int_3^x \frac{\sin t}{t} dt = \int_3^x \frac{\sin t}{t} dt$$

$$\lim_{x \rightarrow 3} \frac{x \int_3^x \frac{\sin t}{t} dt}{x - 3} \quad \frac{0}{0}$$

$$\lim_{x \rightarrow 3} \frac{f(x) - f(3)}{x - 3} = f'(3)$$

$$\int_a^b f(x) dx = f(b) - f(a)$$

$$g(x) = \int_a^x f(t) dt \Rightarrow$$

$$g'(x) = f(x)$$

فصل 1.1

$f(x)$   
 $f(x)$

$g(x) dx$

$$\int_{f(x)}^{p} g(x) dx = \int_{g(f(x))}^{p} g(x) dx$$

$$(f_1 \circ f_2)'(x) = f_1'(f_2(x)) \cdot f_2'(x)$$

$$f_1(x) = \int \sqrt{1+t^2} dt \Rightarrow f_2(x) = \sqrt{1+x^2}$$

$$f_2(x) = \sin x \Rightarrow f_1(x) = \cos x$$

$$f_1(x) = \cos x \Rightarrow f_2(x) = \sqrt{1+\sin^2 x}$$

$$f_2(x) = \sin x$$

$$f_1(x) = f_1 \circ f_2(x) = f_1(f_2(x))$$

$$g_1(y) = f(y)$$

$$g_2(y) = f(y)$$

$$f(x) = \int \sqrt{1+t^2} dt$$

$$g(y) = \int f(x) dx$$

$$g'(y) = f(y)$$

$$\int \sec x \tan x dx = \sec x + C$$

$$\int \sec^2 x dx = \frac{1}{\cos^2 x} dx = \tan x + C$$

$$\int \cos x dx = \sin x + C$$

$$\int \sin x dx = -\cos x + C$$

$$\int k dx = kx + C$$

$$\int f(x) dx = C$$

انتگرال معین

$$\int x^n dx = \frac{x^{n+1}}{n+1}$$

$$\int_a^b f(x) dx = F(x) \Big|_a^b$$

انتگرال نامعین

$$\int x^{\frac{1}{2}} dx = \frac{x^{\frac{1}{2}+1}}{\frac{1}{2}+1} = \frac{2}{3} x^{\frac{3}{2}}$$

$$\int \sqrt{x} dx = \int x^{\frac{1}{2}} dx$$

$$\int_1^4 \sqrt{x} dx = \left[ \frac{2}{3} x^{\frac{3}{2}} \right]_1^4 = \frac{2}{3} (8 - 1) = \frac{14}{3}$$

$$\int_1^4 x^{\frac{1}{2}} dx = \left[ \frac{2}{3} x^{\frac{3}{2}} \right]_1^4$$

$$\int_1^4 \sqrt{x} dx$$



انتگرال نامعین

$$\int \frac{2t^2 + t\sqrt{t-1}}{t^2} dt$$

$$= \int \left( 2 + \frac{t\sqrt{t-1}}{t^2} \right) dt =$$

$$2t + \frac{2}{3} t^{3/2} + t^{-1/2} + \dots$$

$$\int_0^{12} (x - 12 \sin x) dx$$

$$\left. \frac{x^2}{2} + 12 \cos x \right|_0^{12}$$

$$= \frac{12^2}{2} + 12 \cos(12) - 12$$

$$\int_0^3 (x - 6x) dx$$

$$= \left. \frac{x^2}{2} - \frac{6x^2}{2} \right|_0^3$$

$$= \frac{3^2}{2} - \frac{6 \cdot 3^2}{2}$$

$$\frac{\cos \theta}{\sin^2 \theta} = \int \csc \theta \cot \theta = -\csc \theta$$

$$f(\theta) = \frac{1}{\sin \theta}$$

$$f'(\theta) = \frac{-\cos \theta}{\sin^2 \theta}$$

$$\int \frac{\cos \theta}{\sin^2 \theta} d\theta = -\frac{1}{\sin \theta}$$

$$\int \frac{\csc \theta}{\sin^2 \theta} d\theta = \dots$$

$$\left( \frac{1}{\sin \theta} \right)' = \frac{-\cos \theta}{\sin^2 \theta}$$

$$\int \frac{\cos(u) du}{4}$$

$$= \frac{1}{4} \int \cos(u) du$$

$$= \frac{1}{4} \sin(u)$$

$$\int \cos(x+2) dx$$

$u = x+2$   
 $du = dx$

$$= \frac{1}{4} \sin(x+2)$$

$$\int 2x \sqrt{1+x^2} dx =$$

$$\frac{2}{3} (1+x^2)^{3/2} + C$$

$$\int u^{2/3} du$$

$$= \frac{3}{5} u^{5/3} + C$$

$$\int 2x \sqrt{1+x^2} dx$$

$$u = 1+x^2$$
$$du = 2x dx$$

روش جایگزینی (تغییر)

$$\int f'(u) du = f(u)$$

$$\int f'(g(x)) g'(x) dx = f(g(x))$$

$$u = g(x)$$
$$du = g'(x) dx$$

$$\int \frac{x dx}{\sqrt{1-4x^2}}$$

$$\int \frac{du}{\sqrt{u}}$$

$$\frac{1}{4} (1-4x^2)^{\frac{1}{2}} = \frac{1}{4} \sqrt{1-4x^2} + c$$

$$\int \frac{x}{\sqrt{1+4x^2}} dx$$

$$u = 1+4x^2$$

$$du = 8x dx$$

$$\Rightarrow x dx = \frac{du}{8}$$

$$\int \sqrt{2x+1} dx = \frac{1}{2} \int \sqrt{u} du$$

$$= \frac{1}{2} \int u^{\frac{1}{2}} du = \frac{1}{2} \times \frac{2}{\frac{3}{2}} u^{\frac{3}{2}}$$

$$= \frac{1}{3} u^{\frac{3}{2}} = \frac{1}{3} \sqrt{(2x+1)^3}$$

$$\int \sqrt{2x+1} dx$$

$$u = 2x+1$$

$$du = 2 dx$$

$$\int \cos(ax) dx =$$

$$\frac{\sin(ax)}{a} = \frac{1}{a} \sin(ax)$$

$$u = ax$$
$$du = a dx$$

$$\int \cos(ax) dx$$

$$\int \left( \frac{\sin \sqrt{x}}{\sqrt{x}} \right) dx = 2 \int \sin u \, du$$

Sin la x du

$$= -2 \cos(u) = -2 \cos(\sqrt{x}) + C$$

$$\int \frac{\sin \sqrt{x}}{\sqrt{x}} dx$$

$$\sqrt{x} = u$$

$$du = \frac{1}{2\sqrt{x}} dx$$

$$\frac{du}{2} = \frac{1}{2\sqrt{x}} dx$$

$$= \frac{1}{2} \int \sin u \, du$$

$$= \frac{1}{2} \left( -\cos u + C \right)$$

$$\int \sqrt{1+x^2} \, x \, dx = \int \sqrt{1+u^2} \, (u-1) \, du$$

$$= \int \sqrt{1+u^2} \, u \, du - \int \sqrt{1+u^2} \, du$$

$$\int \sqrt{1+x^2} \, x \, dx = \frac{1}{2} \int \sqrt{1+u^2} \, u \, du$$

$$u = 1+x^2$$

$$du = 2x \, dx$$

$$\frac{du}{2}$$

$$\int_a^b f'(g(x)) g'(x) dx =$$

$$u = g(x)$$

$$du = g'(x) dx$$

$$g'(x) f'(u) du$$

$$g(x)$$

$$\int_0^4 \sqrt{2x+1} dx$$

$$u = 2x+1$$

$$\int_1^9 \frac{1}{2} u^{\frac{1}{2}} du = \frac{1}{2} \frac{u^{\frac{3}{2}}}{\frac{3}{2}}$$

$$\int_0^4 \sqrt{2x+1} dx$$

$$\frac{1}{2} (2x+1)^{\frac{3}{2}}$$

$$\frac{1}{2} du$$

$$\int \sqrt{2x+1} dx = \int \frac{1}{2} u^{\frac{1}{2}} du$$

$$= \frac{1}{2} \frac{u^{\frac{3}{2}}}{\frac{3}{2}} = \frac{1}{3} (2x+1)^{\frac{3}{2}}$$

$$\int_0^4 \sqrt{2x+1} dx$$

$$u = 2x+1$$

$$du = 2 dx$$



$$\int_{-a}^a f(x) dx = 2 \int_0^a f(x) dx$$

مثال:  $f(x) = \frac{1}{x^2}$   
(Product transfer)



$$-\int_{-a}^a f(x) dx = + \int_0^a f(x) dx$$

$$x = -x$$

$$dx = -dx$$

$$= \int_0^a -f(x) dx = - \int_0^a f(x) dx$$

$$\neq \int_{-a}^a f(x) dx$$

$$\int_{-a}^a f(x) dx = \int_{-a}^0 f(x) dx + \int_0^a f(x) dx$$

$$= - \int_0^a f(x) dx + \int_0^a f(x) dx$$

$$\int_{-a}^a f(x) dx = 0$$



مثال:  $f(x) = \frac{1}{x}$   
 $\int_{-a}^a f(x) dx = - \int_0^a f(x) dx$



$$\int_0^1 \frac{dx}{(1+\sqrt{x})^4} = \int \frac{2u \cdot \frac{du}{2}}{u^4}$$

$1+\sqrt{x} = u$   
 $\frac{du}{dx} = \frac{1}{2\sqrt{x}} \Rightarrow dx = 2\sqrt{x} du$   
 $dx = 2(u-1) du$

$$= \int \frac{u \sqrt{1-u^2} du}{u^4} = \int \frac{\sqrt{1-u^2}}{u^3} du = \dots$$

$$\int \sin \sqrt{1+\cos t} dt = \int \frac{du}{u^3} = -\frac{1}{2} u^{-2} + C = -\frac{1}{2} (1+\cos t) + C$$

$$\int \sin \sqrt{1+\cos t} dt$$

$u = 1+\cos t$   
 $du = -\sin t dt$

$$\int_{-2}^2 (x+1) dx = 2 \int_0^2 (x+1) dx$$

$$\int_1^2 \frac{\tan x}{1+x^4} dx = 0$$

(Handwritten note:  $\int_1^2 \frac{\tan x}{1+x^4} dx = -f(x)$ )